ko (xp1(® = x1 (D) +
2 Mpy (cos(é(t)) R(t) + cosa(t)) cos(i(t) + ¢(1)) (Lg + 17 (1) + 7o) + n3(t) + 14(t) + n5(t) + npq (D))
(costB(t)) R/ (t) — cos((t) + y(t)) sin(e(t))
(Lo +n1.(1) + mo(t) + 73(t) + 74(H) + n5(t) + 7Py (D) (1) — R SIn@(1) &' (1) -
cos(a(t)) SIN(B(t) + (1) (Lg + 17 (1) + 1o(0) + 13(t) + 1740 + 151 + 1py (O) (6" () + ¢/ (V) +
co(a(t)) cos(f(t) + Y1) (n1” () + 1" ®) + 03’ (V) + 14" ® + 15’ ) +1py M) xpy 'O +
(Mpl (cos(B(t)) R(t) + cos(a(t)) cos(B(t) + (1)) (Lo + n1() + np(t) + n3(t) + n4(t) +

n5() + (V) + izpn) xpr”' (0 = —cio(xpy’® = x1/(V)



